$$\begin{aligned} & \text{don } 29, 2025 \quad \Theta(5) = \frac{12(3)!}{15!} \ge \lambda_2(1-\frac{15!}{3!}) \quad \text{int} \qquad \frac{12(5)!}{15!} \quad |1|! \ge \lambda_2 \\ & (1,x)(3) = \mathbb{Z} \times (3) - \kappa(3) = d(3) \times (3 - \mathbb{Z} \times (3)) \\ & \lambda_1 = 0 \quad Y_1 = 1 / \sqrt{n} \\ & \mathbb{Z} \times i = \text{Tr}(1) = \frac{7}{2} d(3) \end{aligned}$$

$$\begin{aligned} & \text{Kn} \quad \mathbb{E} = \frac{5}{2}(2n, 5) - \alpha \pm \frac{15}{3} \quad \text{Har} \quad \lambda_2 = -2 \quad \lambda_n = n \\ & \text{eff} \quad \alpha = n I - 1I \\ & \text{For} \quad \beta = n I - 1I \\ & (1^n)(3) = (n-1)!(3) - \frac{7}{2} \cdot \frac{9}{3} \cdot \frac{1}{3} - \frac{9}{2} \cdot \frac{1}{3} \cdot \frac{1}{2} - \frac{1}{12} - \frac{11}{12} \cdot \frac{1}{12} \cdot \frac{1}{1$$

Path Pn
$$V = \{1, \dots, n\} \in = \{(a_{l}, a \in l\} : | each \}$$

$$[S[= W_2 | D(S)|= | \frac{D(S)}{(S[-1U-S]} | U| = \frac{u}{n} \ge \lambda_2$$

$$S = \frac{1}{2} - \frac{1}{1} = \frac{3}{3}$$

$$\lambda : mude sweller. X(a_2) = 2a - (n+1) = \frac{1}{2} \times (a) = (2\tilde{\Sigma} a) - n(n+1) = 2\binom{n+1}{2} - n(n+1) = 0$$
For (aut) $e \in (x(g) - x(t))^2 = 2^2 = 4$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \frac{1}{2} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \frac{1}{2} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (2a - (n+1))^2 = (n+1) + (n-1)/3$$

$$T = \sum_{a} (A(a))^2 = \sum_{a} (A(a) + (n-1)/3$$

$$T = \sum_{a} (A(a) + (n$$

Rîns Rn U=
$$\xi_{1,...,n}$$
 E= $(I_{1n}) \cup \xi_{1,a+1} = (I_{2a+1}) = \xi_{2a+1}$
For $I \leq k = \frac{n}{2}$ Rn has egual 2-2 $\cos\left(\frac{2\pi k}{n}\right)$
with etsues x_{k} (a) = $\cos\left(\frac{2\pi k}{n}\right)$ Y_{k} (a) = $\sin\left(\frac{2\pi k}{n}\right)$ Y_{2}
A(so, $x_{0} = 1$. if nown also is x_{2} (a) = $(1)^{9}$
 Y_{3}

 $\cos\left(\frac{2\pi \log n}{n} + \Theta\right) = \cos \Theta \cos \frac{2\pi \log n}{n} - \sin \Theta \sin \frac{2\pi \log n}{n}$

$$Absebaiz: \left(\int_{R_n} x_E \right)(q) = 2x_E(q) - x_E(qt) - x_E(q-1) \\ = 2\cos\left(\frac{2\pi Eq}{n}\right) - \cos\left(\frac{2\pi Eq}{n} + \frac{2\pi E}{n}\right) - \cos\left(\frac{2\pi Eq}{n} - \frac{2\pi E}{n}\right) \\ = 2\cos\left(\frac{2\pi Eq}{n}\right) - \cos\left(\frac{2\pi Eq}{n}\right) + \sin\left(\frac{2\pi Eq}{n}\right) \sin\left(\frac{2\pi Eq}{n}\right) - \cos\left(\frac{2\pi Eq}{n}\right) - \sin\left(\frac{2\pi Eq}{n}\right) + \sin\left(\frac{2\pi Eq}{n}\right) \sin\left(\frac{2\pi Eq}{n}\right) - \cos\left(\frac{2\pi Eq}{n}\right) - \sin\left(\frac{2\pi Eq}{n}\right) + \sin\left(\frac{2\pi Eq}{n}\right) \sin\left(\frac{2\pi Eq}{n}\right) + \sin\left(\frac{2\pi Eq}{n}\right)$$

The Path Pulses same eights as R2n, excluding 2

 Proof
 Rother ring so it looks lite

 Under correct ordering
$$(I_n)^T L_{Pin}(I_n) = ZL_{Pin}$$

$$\begin{split} \vec{z} f & \forall i \circ e \text{such f } P_{2y} \text{ s.f. } V(\theta) = V(a \circ v), \quad \Psi(\theta) = \Psi(\theta) \quad \alpha = 1 \cdots n \quad \text{loss source etsized} \\ \Psi = \begin{pmatrix} \phi \\ \phi \end{pmatrix} \quad \text{So} \quad 2 L p_n \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix}^T L P_{2n} \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} \phi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \\ \vec{z} \end{pmatrix} h P_{2n} \psi = \begin{pmatrix} \vec{z} \end{pmatrix} h P_{2n} \psi =$$